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ST AL 386,3528F
U HefiZH3M) 1,21483
Q20! X|2g 64.2%
g 4=l E(13E) 1.2%
BPS(13E) 66,2632
F2 =5 SUAZF S 8.9%
EXXE®E

(Ao, IFRS ¢1&F) 2011 2012 2013E  2014E

EFHE0|(HZ) 8,843.1 78778 7,346 70319
SLUE(%YoY) 153  -109 -9.4 -1.4
ZI|&0( 2,373 1,769 1,359 1,345
Z22(%YoY) 25865  -254 232 =1.1

EPS 6,141 4579 3518 3481

SLUE(%YoY) 25865  -254  -232 -1.1

24 EPS 5234 4848 3518  3,48]

Z22(%YoY) -614C  -74 -274 =1.1

K-BPS 55816 59,985 62,638 65,855
ZA PER 7.1 7.8 1.9 12.1

PBR 0.62 0.60 0.63 0.60
K-PBR 0.66 0.63 0.67 0.64
Z4 ROE 9.9 83 5.7 5.4
ROA 0.9 0.6 0.5 0.4
Hig+2E 1.9 1.6 1.2 1.4
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12 ZE @) giEo] 201349 A n|A] & £F3FH9] 70%E A5t 9l
o} E4, ti&dlgo] A Br] div] 15.7% %71, vl2d @o] F/tE Holo. 1
AU, Jd diE Ao g2 FE2 §rdE 6009 ¥ AQshH A 2]} vt
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KBE28X|F £7(¥ &N F0| 9 MY
(A8 1013 2Q13 3QI13 %Q0Q %YoY 4Q13E 2013E %YoY
FT50(9 (HEIIF) 1,776.4 1,719.3 1,916.7 11.5 -1.9 1,722.2 7,134.6 -9.2
a.0|Xje==2) 1,650.1 1,617.9 1,591.3 -1.6 -10.6 1,585.9 6,445.2 -9.4
b.H[O|X}0[2] 126.3 101.4 325.4 2210 87.7 136.3 689.4 -7.3
THEHH| Q442 977.0 925.0 =53 =111 973.3 3,819.5 -1.7
FHo| 597.0 513.5 697.1 35.8 29.9 4938 2,301.4 -7.5
=02 296.0 48.6 338.2 595.9 3.7 2340 916.8 =375
KB7IE 96.0 108.0 112.0 3.7 41.8 85.0 401.0 37.2
KBEXIEZH 7.0 3.0 2.0 =333 =333 3.0 15.0 2.8
KBXHRE 11.0 13.0 13.0 0.0 18.2 6.0 43.0 37.7
J|E} 9.6 3.1 2.3 -258 187.5 3.0 18.0 -62.5
XHiZ=ZF=0]2] 4115 163.5 4629 183.1 12.9 321.1 1,359.0 =227
A =09 4115 1635 462.9 183.1 -10.0 321.1 1,359.0 -26.7
EPS(®) 4,260 1,693 4,793 183.1 12.8 3,325 3,518 =224
ROE(%) 6.7 2.6 7.4 =10 -1.9 50 5.4 -1.9
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(KR, %, IFRS) 1Q13 2Q13 3Q13 %QoQ %YoY 4Q13E 2013E %YoY
3TE0/Y 1,474.6 1,418.7 1,602.8 13.0 1.1 1,458.4 59545 -8.7
O|Xtz=0[] 1,3135 1,281.3 1,254.7 -2.1 -14.5 1,2493  5,098.8 -13.3
H|0[Xto| 161.1 137.4 348.1 153.3 196.3 209.1 855.7 33.4
Thofetald| 841.7 874.5 8225 -59 =78 870.8  3,409.5 1.7
IYo|o 376.0 2937 464.0 58.0 14.0 310.8 1,444 5 -23.0
F71E0[9 295.9 48.8 338.2 593.0 37 234.0 916.9 -33.7
EPS(¥) 2,927 483 3,345 593.0 37 2,315 2,268 -33.7
ROA Breakdown(%,%p)
=0k 2.26 2.15 2.39 0.24 0.02 2.15 2.22 -0.24
&g 0.39 0.38 0.47 0.09 0.04 0.41 0.41 -0.08
Udterat]| 1.29 1.33 1.23 -0.10 -0.10 1.28 1.27 0.01
ol 0.58 0.45 0.69 0.25 0.08 0.46 0.54 -0.17

ROA(%) 0.41 0.07 0.46 0.39 0.01 0.31 0.34 -0.18

ROE (%) 477 0.78 5.42 4.64 0.00 3.73 451 -2.56
=O|XHatx 2.04 1.96 1.85 -0.11 -0.27 1.83 1.92 -0.26
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o TAt= 108 25¢ X ‘KBFE LHUFAES 1% Oly ERot UX| ASLCH
o A= & XRE JIUEIIL E= I1I3If01|71| A HISeH Atado] SlELICE
o T X2 FEEAEMAE AtE HEY AXl & AE4o| AgE 7|YES SE8FEALE X HelE ERet UX| YSLCH
o = X=0f| AAE LHBES 2219 97&% HotshA BtEstn UM, ool BEvt o|Lt ZHIQ0] RIS S ZHRlRLITH
EXrelA HEUH(2909) SHEFI}L F0|
5= Xt EXtold SHFIt () KB2g8 ——=HEXJ}
KBZ28& (105560) 2011/08/01 Outperform(Maintain) 62,0009 70.000 -
2011/10/31 Outperform(Maintain)  50,000¢ 60.000 F
2011/11/09 Outperform(Maintain) 50,000 ’
2012/02/13 Outperform(Maintain) 49,000 50,000 -
2012/04/30 Outperform(Maintain) 45,000 40,000
2012/07/30 Outperform(Maintain) 41,000 30,000 |
2012/10/29 Outperform(Maintain) 41,000 20000 |
2013/01/22 Outperform(Maintain) 44,000
2013/04/29 Outperform(Maintain) 40,000 10000
2013/07/11 Outperform(Maintain) 40,000 0 ‘ ‘ ‘ ‘
2013/07/29 Marketperform(Downgrade) 39,000 11710 12/04 12/10 13/04 13/10
2013/10/28 Marketperform(Maintain)  42,000&
EXfoIH U HBIIE
721 HEIIE(6IHE) AE HEIIE(6IE)
Buy(Ofi=) APSTHE| +20% Ol It &5 Ok Overweight (H|Z&CH) AIZCTHE| +10% Oled =Dt off et
Outperform(AE =& &2l) APHTHH| +10~+20% It &5 o4 Neutral (5&) AITHE| +10~-10% HS Of 4t

Marketperform(APE24=QlE)
Underperform(AIS4=2& 3}3))
Sell(0iE)

AIRITHE] +10~-10% 7t 1S Ofl4f
APETHH] —10~-20% Z=0t &2 ofat
AIRTHE| —20% Ot Z=7t ot o4

Underweight (HIS=4)
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